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1) from symmetry 

H22 = H33 and H23 = 0 

2 2 3
22

2
2 ( sin )H E R tRd R tE

p

p
q q p

-
= =ò  

2) Shear flow f0 in open(cut) system 

2
3 3 3 3

0 30
33

( sin ) (1 cos ) (cos 1)
yy

V E zdA V V tR Vf R tRd
H I R t R

q
q q q q

p p
= - = - = - - = -ò ò  

2
0 3

0

3 3
2 3

0

( ) (cos 1)

1 2

(cos 1) 2
2 2

C
c

C

f s Vds Rd
Gt Rf

Rds
Gt

V V
Vd

R R R

p

p

q q
p

p

p pq q p
p p p

-
= - =

= - = =

ò ò

ò

ò

 

 

3
0

cos( ) c
Vf f f

R
qq

p
= + =  

3) 3
max0, Vf

R
q p

p
= =  

 

8.38 (page 333) 

1) H23=0 
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Sequences and path indices are followed as shown in fig. 8.40(page 331) 
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Constant shear flow 
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Moment about O 
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3) moment due to V3 at web 
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Cantilever beam 
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5) d/b = 0.375 


